Bgr (B
y

2024

GRUP L SR B

Wl FTe, AEUT (2

SR ) Al =
L SRR = . o b o FaEHmE s i ML T |
| s ‘ e | #wror |mirisg 0 i sz | v | mwemy | % %0
il‘(ﬁ{ﬁ_ﬁ? 282, 6 0 282, 6 100% o S 67 7 (e 7.8 99, 728
- EAENEN 970 18 Y52 2 0, 22 i 0 0 0
oy S, 0 0 0 Wil gt 1 3 1 3.8 951,
290 168, 7 9, G5 0 1] 1]
(] 0 L] [ 4 70 0 100%
B0 a8 632 1241 G7. UM
10 20 30 Hy ] 9l — ERAH J6l. 6 -1 d54.6 277,25 | 78. 184,
gt |1405) 114 ~36. 3 7.7 4.3 5. Gy
i | UL LI R B e A R 210 210 147.4 70 194
gy i k) 0 i 0 [ty g 1] 20 2 14.5 72, 50%
i AbRh o 1] ] AT 1.2 0.2 1.4 1.4 100.00%
REti i 0 ] 1] R 5 41 624
SR 0 1] ] 143105 5 1.5 0.5 0.17
JHL ST 0 [l i 1 2 3 2.8
CrsEsL) 1 0. 68
SR A LLLON 0.12 18 18.12 1807 | bwi 1 1. 8 1.8 1.7
0. 12 0. 17 L. G A 0 0 1]
£ 4 [} i 1] 0 0
JEfk [} 18 18 1.4 44, 1 i 0 0 0
CEsE ) Ak JE 15 6 0 0 0
. HREE e UR 60 1.2 0.7 58. 3%
7 UG U0 0 HLENZE S5 5 0 0 [l
[T UEES 1] LI 22 27.8 a0 27.5 91. Bt
SR Bs 0 (AL
(EEN = Uiz i 1 5 [ 8.4 40
i, AeifiA BRI 0 0 0
AR PO [1] TG 4t 0 0 0
JLil u IS Eos i) 0 o 0
(B Hfl It 5 6 5.4 01
. LIB TR (EEL)
TAkIb S TN 0 UL Rt Aiiis 0 0
Tkl il CEiRmD g 1] St 1.5 0.6 401
midk (RFfE) S ilqen [ A ihid 12 10,4 56, 665
IS IR0 [} H. A& 300 270.68 | 90.2
IEUEN TN [} ATl 40 a6.18 | 0.4
JEol ] R A 260 231.5 90 195
(i) CHEN)
EHE e 0 75 LHIFR A 0 0 [
NS 00 JERHIQ BN 1 0 0
1187, 52 TR 0 0 0
JE2 )4z T o 0 0
- B 1] 0 0
BNV 0 0 0
s 342,97 8.6 3% fiEHE Pb {2 u 0 0
TR 6. 9 63.67 | 98. 168 Jedil 0 0 0
EANE 1. 65 18 ARTY CHESL
Jtfhsz ek 5 [ oy G feeasras 256.3 0 0
ik i 141 155 1085 SR 1SR 0 1] 1
LS IUTVON 46. 04 39 B 708 fS VTR 185. 3 1] 0
B g 0 1] [l
B 2 1L ) 70 1] 0
CHEL)
FASN 1 ' 4 25 5 20 1.3 56. 50%
i 10 10 0 [ [
BRI B 5 1 1 1.1 27. 504
pastu1Liend 3 & 11 10.2 492, 726
S 5 0 & a 1]
(HEL)
Ju. (FIRTH 10 [ 1]
SEMERCR 20 u i
ERMERTE 0 u a
SRR LR 20 0 1]
SRMERCTR 0 1] 0
(B0
+. gL [ 0 [
. A 0 0 0
il 1063. 4 619,44 | 61.07%
itk
s 342,97 1.4 [
R A 66.9 0.2 0. 62%
EAE 3.5 18 3874
BISCIRA0EN 5 (L 22%
Bl e 141 153 1084
IR 46, 04 45 97. 70%
% A
HN WEHRR: ey Hi g

R



